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MATH 32A: CALCULUS OF SEVERAL VARIABLES
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1. (10 pts) Find an equation of the t
¢ 3y ;
2 hetangW the point P = (10, 15) for
c(t) = (2 + 1,3 — 4t).
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2. (109“)Debetminewha.hathefollovin;tvounuinwm:
ri(t) = (1,0,1) +¢ (3,3, 5),

ras) = (3,6,1) + s (4,-2,7).
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3. a) (4 pts) Letvbeanonzeromctor(inl’), and let u be any vector (in R®). By using the dot product, write down a
formula for the projection uy, of u along v.

b) (GPtS)RecaJltha.twedeﬁnedthaorthogomleompont uyy of u with respect to v by

Uiy =u-— \l".
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4. (10 pts) Find the area of the triapgle with vertices P = (1,1,5), Q = (3,4,3), and R = (1,5,7).
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